LITHOLOGY STRIP LOG

WellSight Systems

Scale 1:240 (5""=100") Imperial
Measured Depth Log

Federal #20-3
11-019-200014
Bonneville County, Idaho

Well Name:

API:

Location:

License Number:
Spud Date:

Surface Coordinates:

Region:

1114117 Drilling Completed: TBD

Bottom Hole
Coordinates:

Ground Elevation (ft):
Logged Interval (ft):
Formation:

Type of Drilling Fluid:

K.B. Elevation (ft):

2,014’ To: TBD Total Depth (ft): TBD

WBM

Printed by MudLog from WellSight Systems 1-800-447-1534 www.WellSight.com

OPERATOR
BHI/CPC Minerals, LLC

Company:
Address:

GEOLOGIST

Miles Wentland

FIELD GEO SERVICES

533 BOGART LANE, UNIT A
GRAND JUNCTION, CO 81505

Name:
Company:
Address:
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